


5. (2 Pts) The data below refer to the following reaction:
2NO(g) + Bra(g) == 2NOBr(g)
Concentration (M)  [NO] [Br2] [NOBr]
Initial 2.5 5.0 1.0
Equilibrium 2.0
Find the concentration of Br, when the system reaches equilibrium.
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6. (2 Pts) Consider the reaction Na(g) + 3Ha(g) = 2NHjs(g). If we use a catalyst, which way will the
reaction shift?
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7. (5 Pts) The data below refer to the following reaction: Refer to question 5.
2NO(g) + Bra(g) == 2NOBr(g)
Concentration (M)  [NO] [Br] [NOBr]

Initial 2.5 5.0 1.0
Equilibrium 2.0 S D
Calculate K. T
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8. (2 Pts) Consider the reaction Na(g) + 3Ha(g) = 2NHjs(g). ’ﬁ"he production of ammonia is an
exothermic reaction. Will heating the equilibrium system increase or decrease the amount of ammonia

produced?
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